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Sample Paper – 2010
Class – X

Subject – Maths    
General instructions:-

1. All Questions are compulsory.

2. The question paper consists of 30 questions divided into 4 sections A, B, C, and D. Section A comprises of 10 questions of 01 marks each, section B comprises of 5 questions of 02 marks each, section C comprises of 10 questions of 03 marks each, and section D comprises of 5 question of 06 marks

3. All questions in section A are to be answered in one word, one sentence or as per the exact requirement of the question.
4. There is no overall choice. However internal choice has been provided in one question of 02 marks each, three questions of 03 marks each and one question of 06 marks each. You have to attempt only one of the alternatives in all such questions.
5. Uses of calculators are not permitted. However you may ask for mathematical tables.
Section A

1.Find A sequence{ an} is given by the formula an =10 – 3n. prove that it is an a.p.
2.Given that tan A = 4/3, what is the value of  [image: image1.png]cosec’ A - sect A
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 .
3.A semi circular sheet of metal of diameter 28cm is bent into an open conical cup . Find the depth and capacity of the cup. 
4. If a,b,c, are rational, D>o and not a perfect square, what would be the nature of roots?
5.what is a quadratic equation?
6 .Find the median from the following 
                 If  mean=49.7  and mode=46.1 of a data is given.

7.Find the perimeter of a sector of a circle with diameter 8cm if angle of the sector is 360.
.

8.Define Algebra .
9.What are the angles of depression in trigonometry                                                                                                        

10. Find the centre of circle passing through the points [6,-6], [3,-7],[3,3].
Section B
11.A sector of radius 15 cm has the angle 1200.it is rolled up so that two bounding radii are joined together  to form a cone .find volume of the cone.([image: image2.png]use 1+ = 227



)
12. A,B,Y are the zeroes of polynomial x3+px2+qx +2 such that A.B+1=0 find the value of 2p+q+5
13. ABC is a right triangle  at C , P and Q are points on the sides CA and CB respectively which divides these sides in the ratio 1:2 .prove that 9[AQ2+BP2]=13AB2




OR

      Prove that the opposites sides of a quadrilateral circumscribing a circle subtend supplementary angles at the centre of the circle.
14. solve for x and y:
2ax +3by = a + 2b

3ax – 2a = b-2by
15. Find the sum of n terms of the sequence {an} where an = 5-6n 
Section C 
16. For what value of k, [4-k] x2 + [2k+4]x +[8k+1]=0 is a perfect square.
17.  Prove that 

                      Cos10A cos20  cos30.......cos1800 =0
18.  If m and n are odd positive integers , then prove that m2+ n2  is even. But not divisible by n.
19 . Find the angle subtended at the origin by the line segment whose end points are [0,6], [8,0]
OR

 If the points [a,0],[0,b], [1,1] are collinear.show that b+a =ab.

20  Draw a circle of radius 4cm .Take two points Pand Qo one of it’s extended diameter each at a distance          of 6 cm from its centre , draw tanents frmP and Q.

21. If diameter of circle is 4cm and OABC is a square ,if the shaded area is 1/3rd area of the square , then    the side of the square is. Find the area of the shaded region.also.
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 22.  Find The ratio of area of a square inscribed in a semicircle to the area of a square inscribed in a quadrant of the same circle .
OR

      A cylindrical oil tank, lying horizontally , has an interior length of 10 metre and an interior diameter  of 6 metre. If the rectangular surface of the oil has an area of 40 metre square, the depth of the oilis to be found.
23. A man when asked how many hens and buffaloes he has ,told that his animals have 120 eyes and 180   legs.how many buffaloes he has?

24 .Find the number of terms  common to the two A.P.’s
   2,9,16.............709and

   3,7,11...........407.

25. Find The Probability for a leap year to have 52 Mondays and 53 Sundays .
Section D
26 .Find mean,median ,mode of the following data.
	Class
	Frequencies

	25 – 35

35 – 45

45 – 55

55 – 65

65 – 75

75 - 85
	7
31
33
17
11
01

	Total 
	


27 . find the height of the cloud  if the angle of elevation of a cloud from a point H metres above a lake is A0   and the angle of depression of its reflection in the lake is 450.
  



OR

Two persons are ‘A’ metre  apartand the height of one is double that of the other . If from the middle point of the line joining their feet ,an observer finds the angular elevation of their tops to be complementry  ,then the height of the shorter personin meter is to be found?
28.State and prove Pythagoras theorem. Using the above theorem show that In a triangle  ABC if AD is the median then  AB2 + AC2 = [BD2 + AD2] 2 .
29.Derive the equation for the volume and curved surface area of the frustum of a cone where h,r e.t.c. stands for usual meanings.
30. solve the Quadratic equation

         abx2 = [a+b] 2 . [x-1]
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